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 ONR-003  

CERTIFICATE IN WATER HARVESTING  

AND MANAGEMENT (CWHM) 

Term-End Examination 

December, 2022 

 

ONR-003 : WATER HARVESTING,  

CONSERVATION AND UTILIZATION 

Time : 3 hours                            Maximum Marks : 75 

Note :   Attempt any five questions. All questions carry 

equal marks. Use of calculator is permitted. 

 

1. (a) Discuss in detail the importance of 

rainwater harvesting for crop production 

sustainability.  7 

(b) Describe any four Indigenous Traditional 

Knowledge (ITK) used in different parts of 

the country.   8 

2. (a) What are in-situ water harvesting 

techniques ? Discuss any three in-situ 

water harvesting techniques used in hilly 

regions. 2+6 

(b) Explain community type water harvesting 

system.  7 
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3. (a) Discuss in detail the various steps of water 

storage tank design.  8 

(b) Explain the process of purification of water 

for drinking.  7 

4. (a) Define artifical groundwater recharge. 

Discuss ideal conditions for artifical  

groundwater recharge.  3+5 

(b) Explain groundwater recharge through 

injection wells with the help of neat sketch.  7 

5. (a) Define irrigation scheduling. Explain its 

importance for better crop production.  3+5 

(b) Differentiate between surface and sprinkler 

irrigation. Under which conditions is furrow 

method of irrigation used ? 4+3 

6. (a) Compute the gross capacity of a water 

storage pond for applying 5 cm irrigation to 

10 ha area and meeting water requirement 

of 30 cows and 10 buffaloes. Assume the 

water requirement of each cow and each 

buffalo is 70 and 60 litres/day respectively.  7 

(b) What is plastic lining of ponds ? Explain the 

process of lining of ponds.  3+5 
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7. (a) Discuss the importance of water 

conservation techniques for agriculture.    7 

(b) Define water application efficiency. 

Calculate water conveyance efficiency if 

discharge of 75 litres per second was 

released from the source and 60 litres/per 

second was delivered to the field.  3+5 

8. Write short notes on any five of the  

following : 53=15 

(a) Duty  

(b) Optimum use of Water  

(c) Seepage Loss  

(d) Ramming  

(e) Contour  

(f) Water Harvesting Potential  
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 Amo.EZ.Ama.-003  

Ob g§M`Z  Ed§ à~§YZ _| à_mU-nÌ  
(gr.S>ãë`y.EM.E_.) 

gÌm§V narjm 

{Xgå~a,  2022 

 

Amo.EZ.Ama.-003 : Ob g§M`Z, g§ajU Am¡a Cn`moJ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 75 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 

h¢ & H¡$ëHw$boQ>a Ho$ à`moJ H$s AZw_{V h¡ & 

 

1. (H$) µ\$gbmoËnmXZ {Za§VaVm H$mo ~ZmE aIZo Ho$ {bE 
dfm©Ob g§J«hU Ho$ _hÎd H$s {dñVma go MMm©  
H$s{OE & 7 

(I) Xoe Ho$ {d{^Þ ^mJm| _| Cn`moJ _| bmE OmZo dmbo 
{H$Ýht Mma Xogr na§namJV kmZ (AmB©.Q>r.Ho$.) H$m dU©Z 
H$s{OE & 8 

2. (H$) ñd-ñWmZo  Ob g§J«hU H$s VH$ZrH|$ Š`m h¢ ? nhm‹S>r 
joÌm| _| Cn`moJ _| bmB© OmZo dmbr {H$Ýht VrZ  
ñd-ñWmZo  Ob g§J«hU VH$ZrH$m| H$s MMm© H$s{OE & 2+6 

(I) Ob g§J«hU H$s gm_wXm{`H$ àH$ma H$s àUmbr H$s 
ì`m»`m H$s{OE & 7 
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3. (H$) Ob ^§S>maU Q>¢H$ {S>µOmBZ Ho$ {d{^Þ MaUm| H$s {dñVma 
go MMm© H$s{OE & 8 

(I) nrZo Ho$ {bE Ob Ho$ ew{ÕH$aU H$s à{H«$`m H$s ì`m»`m 
H$s{OE & 7 

4. (H$) H¥${Ì_ ^yOb nwZ^©aU H$mo n[a^m{fV H$s{OE & H¥${Ì_ 
^yOb nwZ^©aU Ho$ {bE AmXe© pñW{V`m| H$s MMm© 
H$s{OE & 3+5 

(I) ñdÀN> aoIm{MÌ H$s ghm`Vm go B§OoŠeZ Hw$E± Ho$ 
_mÜ`_ go ^yOb nwZ^©aU H$s ì`m»`m H$s{OE & 7 

5. (H$) qgMmB© AZwgyMrH$aU H$mo n[a^m{fV H$s{OE & ~ohVa 
µ\$gbmoËnmXZ Ho$ {bE BgHo$ _hÎd H$s ì`m»`m  
H$s{OE & 3+5 

(I) gVhr Am¡a \$ìdmam qgMmB© _| A§Va ñnï> H$s{OE & 
{H$Z pñW{V`m| _| Hy±$S>> qgMmB© {d{Y H$m Cn`moJ {H$`m 
OmVm h¡ ? 4+3 

6. (H$) 30 Jm`m| Am¡a 10 ^¢gm| H$s Ob H$s Amdí`H$Vm H$mo 
nyam H$aZo Am¡a 10 hoŠQ>o`a joÌ _| 5 go_r qgMmB© Ho$ 
{bE EH$ Ob ^§S>maU Q>¢H$ H$s gH$b j_Vm H$s JUZm 
H$s{OE & _mZ br{OE à{V Jm` Am¡a à{V ^¢g H$s Ob 
H$s Amdí`H$Vm H«$_e… 70 Am¡a 60 brQ>a à{V{XZ h¡ & 7 

(I) Vmbm~m| H$m ßbmpñQ>H$ AmñVaU Š`m h¡ ? Vmbm~m| Ho$ 
AmñVaU H$s {d{Y H$s ì`m»`m H$s{OE & 3+5 
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7. (H$) H¥${f Ho$ {bE Ob g§ajU VH$ZrH$m| Ho$ _hÎd H$s 
MMm© H$s{OE & 7 

(I) Ob Cn`moJ XjVm H$mo n[a^m{fV H$s{OE & `{X òmoV 
go 75 brQ>a à{V goH$ÊS> H$m òmd {H$`m J`m VWm  
60 brQ>a à{V goH$ÊS> IoV H$mo {X`m J`m hmo, Vmo Ob 
n[adhZ XjVm H$s JUZm H$s{OE & 3+5 

8. {ZåZ{b{IV _| go {H$Ýht nm±M  na g§{jßV {Q>ßn{U`m±>  

{b{IE : 53=15 

(H$) Wmbm (S>çyQ>r) 
(I) Ob H$m Bï>V_ Cn`moJ 

(J) [agmd hm{Z 

(K) a¡q_J 

(L>) H§$Qy>a 

(M) Ob g§J«hU j_Vm 


